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No| RIEH | X% HEEk A Bt [mlor] EE | EF
1 4813H ABEINFR 0.06 - - -
2 48138 BIREHFFER 0.07 - - -
3 4878 - RENE/NFR 0.07 - 0.06 0.06
4 4A7H = FEINVER 0.06 - 0.05 -
5 487H g FEhR 0.07 - - -
6 4813H IR INERR 0.06 - 0.07 0.07
7 4812H R 0.06 - - -
8 4812H BUR/INVER 0.07 - 0.07 0.08
9 4812H KIR/NER 0.07 - - -

4R — —

10 4812H BN R 0.09 - - -
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No| RIEH | X% R e [mE0 T BE | EE
1 4823H BEINFER 0.06 - - -
2 4823H BIRE SR 0.07 - - -
3 4820H = RENE/NFER 0.07 - 0.06 0.06
4 4R20H # FINVER 0.06 - 0.05 -
5 | 48208 if:f HrEchag 0.06 - - -
6 4H238 R INERS 0.06 - 0.06 0.07
7 4827H R 0.06 - - -
8 48278 BURE/INERR 0.07 - 0.07 0.07
9 4827H RIE/NER 0.08 - - -
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10 4R27H HHNFR 0.09 - - -




